8-14 (Evaluating the significance of misstatements) You are concluding the audit of Sun Island

Apparel, Inc. as of December 31, 20x1. You believe that you can tolerate $675,000 in misstatements

to pretax income. You have noted only three issues that may affect the financial

statements based on evidence found during the audit. They are:

1. When auditing accounts receivable, you investigated every sales transaction between

December 26th 20x1 and January 5th 20x2. You have problems with revenue recognition

on two shipments that were ordered in December of 20x1, recorded in revenue as of

December 31, 20x1 but the customer did not pick the items up until January 4, 20x2.

These shipments had a retail value of $240,000 and a cost of $130,000. The inventory was

held aside as the company expected customers to pick up the inventory prior to yearend,

and it was not counted as part of inventory. These were the only sales cutoff problems

discovered. Tolerable misstatement for accounts receivable and sales was $260,000.

2. When auditing inventory, you determined that the company still had $395,000 of last

year’s designs and inventory on hand. Based on past history you believe that the comCHAPTER
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Figure 8-12 ■ Household, Inc. Summary Financial Statements ($ 000 Omitted)

Income Statement 20x6 20x5

Sales $ 3,513 $ 3,413

Cost of sales $— 2—,6—22 $— 2—,4—75

Gross proft —$— 8—91 —$— 9—38

Selling general and administrative expenses —$— 79—7 —$— 78—1

Operating income ——$ —94 —$— 1—57

Other income and expense —$— (1—3) —$— (1—4)

Pretax income ——$ —81 —$— 1—43

Income tax expense ——$ —32 ——$ —55

Net income ————$ ——49 ————$ ——88

Balance Sheet

Cash and cash equivalents $ 208 $ 190

Accounts receivable $ 89 $ 73

Inventories $— 1—,1—83 $— 1—,17—9

Current assets $— 1—,4—80 $— 1—,44—2

Property, plant and equipment $ 630 $ 649

Goodwill ——$ —96 ——$ 8—8

Total assets $—— 2——,2——06 $—— 2——,1——79

Accounts payable $ 565 $ 638

Accrued expenses $ 401 $ 376

Taxes, including income taxes $ 121 $ 93

——— ———

Total current liabilities $— 1—,0—87 $— 1—,1—07

Long-term debt —$— 1—50 —$— 1—52

Total liabilities $— 1—,2—37 $— 1—,25—9

Common stock $ 661 $ 661

Retained earnings —$— 3—08 —$— 2—59

Total equity —$— 9—69 —$— 92—0

Total liabilities and equity $—— 2——,2——06 $—— 2——,1——79

Summary Cash Flow Information

Cash flow from operations $ 127 $ 175

Cash flow from investing activities $ (107) $ (90)

Cash flow from financing activities ——$ —(2) ——$ —10

Change in cash ——$ —18 ——$ —95

pany can realize approximately $175,000 on the sale of this inventory. No other problems

were noted associated with the not realizable value audit objective. Tolerable misstatement

for inventory was $250,000.

3. In performing a search for unrecorded liabilities, you audited every cash purchase

between January 2, 20x2 and January 20, 20x2. The only problems you noted are described

as follows. You find $200,000 in invoices that were received from subcontractors who

manufacture apparel in mid-January. The invoices were dated December 21, 20x1.

Inventory was shipped on December 27, 20x1 (FOB shipping point), received on December

31, 20x1, and was counted in inventory. In addition, you found one invoice in the

amount of $150,000 for the purchase of new equipment that was dated December 29,

20x1 but was not received from the vendor until January 10, 20x2 when it was paid in

cash. The goods were shipped FOB shipping point. No accrual was made for these

invoices. Tolerable misstatement for accounts payable was $240,000.

Required

a. Propose adjusting journal entries for the three items noted above.

b. Make an overall determination about what journal entries you believe that the client

should book in order for the financial statements to present fairly in all material respects.
